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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each gquestion, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer
Sheet. ’ (20 marks)

1 In 742.896, which digit is in the hundredths place?

(1) 6
2y 7
3 8
4y @
2 Which of the following is the same as 20 mi?
1y 21t
(2) 0.2¢
(3) 0021

(4) 0.002¢




There are 30 chocolate cookies, 18 raisin cookies and 48 butter cookies.
What is the ratio of the number of chocolate cookies to the number of
raisin cookies to the number of butter cookies? <

(1) 5:3:8
(2) 3:5:8
{3) 5:3:6. _
(4) 6:3:8

Sindri worked for 30 hours. He was paid $600. How much was he
paid per hour?

(1) $5
2y %2 :
(3) %20 .

4y $50




Shahul had $2500. He spent $2000. What percentage of his money
- did he spend? o

(1) 20%
@ 25%
(3) 80%
(4)  125%

There were 860 people in a concert. 60% of them were adults. How
many adults were there at the concert?

(1) 384
(2) 576
(3) 588

(4) 768




7T Wﬁich line in the square grid is perpendicular to AB?

(1) DE
{(2) EF
(3 CD

4) FG



8 In the figure below, ABCD is arectangle. Eisapointon BC. BEis
half the tength of BC, DC =20 cm and AD =14 ¢cm. Find the area of
triangle BDE.

A
A
14 cm
¥ L.
De
20cm
(1) 35cm?
(2 70cm?
(3) 140 cm*
(4) 280 cm?
9 Which of the following triangles is an equilateral triangle?
60°
60° 110° 80°
&) 2) (4)




10 The solid below is formed by unit cubes. How ‘many_unit cubes are
there? : - :

1 12
@ 17
(3) 18
(4) 26

11 Which one of the following fractions is closest to 27

(M 2%
(2) 2%
| (3) 142—
4) 1-37—'



12

13

Jasmine scored an average of 70 marks for a Mathematics test and a
Science test. She scored 68 marks for the Mathematics test. How
many marks did she score for the Science test?

(1) 66
@ 69
3) 72
(4) 138

Mandy had 408 { of milk. She poured all the milk into 400 bottles.
Each bottle contained the same amount of milk. How many litres of milk
did each bottle contain?

(1 1.02
@ 12
(3) 102
@) 12




14

15

PSS 7 S 1
Noah bought 3 kg of grapes. He ate 3 of it. How many kilograms

(1)
@

(3

(4)

Mrs Tan cooks 0.35 kg of rice every day.

" of grapes had he left?

does she cook in 60 days?

(4)

24

3.5

18

21

How many kilograms of rice
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Questions 16 to 20 carry 1 mark each. Write youf answers in the spaces
provided. For questions which require units, give your answers in the units
stated. : : (5 marks)

16  Findthevalueof 14 +(30-18) + 6 x 2.

Ans:

17 Find the value of 923 + 4. Express your answer as a decimal.

Ans:

18 What is the missing number in the box?

4:7=32:] |

Ans:




19  Inthe figure below, JKL and MKN are straight lines. ZNKP = 80° and
ZJKN =130°. Find £PKL.

Ans: °

20  Inthe figure below, QRS is a triangle. ZQSR = 10° and ZQRS = 25°.
Find £SQR. :

10° . \)\

25°

Ans:




Questions 21 to 30 carry 2 marks each.. .Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units sfated. , {20 marks)

21 in the figure below, WXYZ is a trapezium. WX// ZY, ZZWY = 95° and
LWZY = 65°. Find £ZYWX.

Ans: °

2
22 Mrs Tan had some money at first. She spent 3 of her money on a

1
watch and g of her money on food. She had $100 left. How much

did she have at first?

Ans: $




23 Whatis the volume of the cuboid shown below?

P —y
40 cm

Ans: cm?

24 Find the average cost of the 3 items as shown below.

N/

$36 $29.50 $42.50

Ans: $




25  The mass of a book is 3.08 kg. Find the total mass of 6 such books.

Ans: 4 kg

26  The drink stall sold 2651 packet drinks_in January. The number of
packet drinks sold in February was 44 more than the number of packet
drinks sold in January. How many packet drinks were sold in February?

Round your answer to the nearest ten.

Ans:

27  Mrs. Singh deposits $15 000 in the bank for one year. The bank offers
an interest of 4% per year. How much will Mrs Singh have in her bank
at the end of one year?

Ans: §




28  Nana stacked 10 unit cubes and glued them together to form the solid
below.

. . TopView . . .
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* - - » - » - »
- * »

14 3 . . -
L - L 4

- - - s L d
. » » *

. - » - *
L » *

* » - » »

» L] *
- » » - -

FrontView , *© , ° , SideView -

Draw the top view and the side view of the solid on the grids below.

Top View Side View
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29  Inthe figure below, WXYZ is a rectangle. The area of rectangle WXYZ
_ is 552 cm?.  C and D are points on WX. E and F are points on ZY.
Find the total area of the shaded parts. '

Ans: cm?

30  The average mass of Mei Mei and her cousins was 45 kg. Mei Mei's
mass was 53 kg. The average mass of her cousins was 43 kg. How
many cousins did Mei Mei have? )

-Ans?

End of Paper




NANYANG PRIMARY SCHOOL

END-OF-YEAR EXAMINATION
2022 -

PRIMARY 5

MATHEMATICS
PAPER 2

Duration: 1 hour 30 minutes

lNSTRUCT!ONS TO PUPILS

Do not turn over this page until you are told to do so.
Follow all instructions carefully.

Answer all questions.

Write your answers in this booklet.

The use of an approved calculator is allowed.

orLN -

- Name: ( )
Class: Primary 5 ( )
Parent’s Signature: Booklet A | /20
Bos_klet B 125
Paper 2 /185
Total /100

Please sign and return the examination paper the next day. Any'queries
should be raised at the same time when returning paper.




“Questions 1 to 5 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
~ your answers in the units statéd. . (10 marks)

1 Sarah spent 1 ‘-,1- h in the moming to complete her Science project.

7 A ’ )
She spent 1;{5 h in the afternoon to complete her Chinese project.

What was the total amount of time she spent on completing both her

Science and Chinese projects?

Ans: h

2
2 The side of a dquare is 6 5 em. What is the perimeter of the square?

Ans: cm




The table below shows the number of books sold in Everygreen
bookshop from January to May.

January February March _ April May -
88 75 82 : 69 71

What was the average number of books sold from January to May?

Ans:

In the figure below, ABC is a right-angled triangle. D is a point on AC.
ZBAC = 23°, ZABC = 90° and BC = BD. Find £BDA.

B

p 12 O

Ans: °




Junie bought a book from ABC Bookshop. She had forgotten how
much she paid for the book. However, she remembered that the book
cost $30 when rounded to the nearest doliar. -

She remembered the following about the cost of the book:
- It showed 2 decirﬁai places.
- Al the digits are different.
- The digits she saw in the tenths and hundredths places are 1. 4
or5. .

How many possible costs of the book are there?

How to Improve Your

FRENCH

Ans:




For questions & to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ ] at
the end of each question or part-question. (45 marks)

6 Anna and James had the same amount of money atfirst. Anna bought
some pens and had $4.30 left. James wanted to buy highlighters only.
The number of highlighters that James wanted to buy was the same as
the number of pens Anna bought. However, he was short of $8.70.
Each pen cost $1.20 and each highlighter cost $2.50. How much
money did Anna have at first?

§
1
5
:

Ans: {3]




The Art Museum offers tickets on discount as shown in the flyer below.

Buy 1 ticket at 10% discount

ART MUSEUM

TICKET SALE
- Usual price: $16 per ticket

Buy 2 or more tickets at 20% discount

(a) MrLim bought 1 ticket. How much did he pay?

Ans: (a) : 1]

(b) Mr Tan bought 3 tickets. What was the least amount of money he
paid?

Ans: (b} [2]




8 - In the square grid below, JK and JN are straight lines.

(2) JK and JN form two sides of a square JKLN. Complete the
' drawing of the square JKL&. {1]

(b)) UK and JN form two sides of a trapezium JKMN. KM is paralle! to
JN. Complete the drawing of trapezium JKMN such that the area

1 o '
of JKMN is 15 times of the area of JKLN. [2]

9 Chin Lee is 12 years older than Ming Shi. In 5 years’ time, the ratio of
Ming Shi's age to Chin Lee's age will be 5 : 9. How old is Chin Lee
now?

Ans: (3]




10

The average of 8 numbers is 45. When 2 of the numbers are removed,
the average of the remaining numbers is 32. The difference between

the 2 numbers that are removed is 6.

(a) Find the sum of the remaining numbers.

Ans: (a) ' 1

{b) What are the 2 numbers that are removed?




11

: 1
Farhana baked some cupcakes. 5 of the cupcakes were chocolate
> - 4
cupcakes and-the rest were banana cupcakes. She sold 7 of the

. ’ 9
chocolate cupcakes and 51 banana cupcakes. She then had 5 of the

| cupcakes left.

(a) How many chocolate cupcakes did she sell?

Ans: (a) . 12]

(b) How many cupcakes did she bake in all?

Ans: (b) {2]




v 3 ,
12 A tank measuring 40 cm by 14 cm by 18 cm was Z«ﬁiied with water as

shown below. All ithe water in the tank was poured into a cubical

container of sides 20 cm.

18 cm 20 ¢cm

g
D A—

)/1‘ 4cm , 20 cm

40 cm . 20 cm

(a) How much water was in 'ihe tank at first?

Ans: _(a) [2]

(b) How many more litres of water are needed to fill the cubical
container to the brim?

(b) (2]




13

Kean Yew had 7200 shuttlecocks. He packed the shuttlecocks into as
many bags of 7 shuttlecocks as possible and had some shuttlecocks left
unpacked. He sold all his shuttlecocks and received $3608. Each bag
of shuttlecocks was sold at $3.50. " ,

(a) How many shuttlecocks were left unpacked?

- Ans: (a) (1

(b) Each of the shuttlecocks left unpacked was sold at the same price.
How much did each of the shuttlecocks left unpacked was sold at?

Ans:  (b) [3]

10




14 The figure below shows a right-angled triangle AFG and a square ABCD
overlapping each other. ADG is a straight line. ZAGF =90°, DC = GF
and EC = 7 em. The length of AB is twice the length of EC.
Triangle AFG has the same area as square ABCD.

A B
D)

- E 7cm c
G F

(a) What is the area of square ABCD?

Ans:  (a) [2]

(b) Find the shaded area DEFG.

Ans: (b) [2]

11




15  In the figure below, NQRT is a parallelogram. Pisa point on NQ and
PTS is a straight line. £NTP = 33° ZPNT =105° and £LTRS = 21°.

Q

S

(a) Find £RST.

Ans: (a) (3]

(b) Circle the words that describe triangle RTS correctly in the
following statement. ‘

Triangle RTS { is / isnot )} an isosceles triangle because
RT ( is [/ is not ) equal to ST.

g

12




16

2 .
Cindy had a piece of ribbon. She used 7 of the ribbon to make 15

small identical bows and 7 large identical bows. The length of ribbon

used for 3 large bows was the same as the length of ribbon used for 5

~ small bows.

(a) How many large bows can she make with the same length of ribbon
used for 15 small bows?

Ans: (a) 1]

. 3
(b) How many small bows can she make with — of the remaining

10
ribbon?

Ans: (b) [4]

13



17 Hon Lee formed some figures using squares and circles as shown below.

y O
O
0 a0
0 0onn
0000
0 omgmo oaggg[}gao omomomoaoaggo
0o oooo Ooooon oooooooo
Figure 1 Figure 2 Figure 3 | Figure 4
Figure T 1 2 3 4
Number of circles 1 4 9 16
Number of squarés 2. 6 12 20
Total number of circles 3 10 o1 35
and squares

(a) Find the number of circles in Figure 8.

Ans: (a) 1]

14




(b) Which figure in the pattern has 830 squares?

{b) Figure [2] -

(¢} Find the total number of circles and squares in Figure 15.

(o) 2]

End of Paper

15
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Thers are 30 chocolate covldas, 18 raisin cooides and 48 buller cooldes,
What Is the ratio of the mamber of thocolals cooldes B the number of

Guastons 11p 10 cany 1 marteach,  Ouastions 11 1o 15 cany 2 marks pach, QS
pIeny
raisin cookies 12 $o number of butter cookles? .

For each quastion, four options ara given.  One of them s the comedt answer,

Make your choica {1, 2, 3 or 4} shate your answer on the Optical Answer .
Sheet (20 marks} e o Yer
3 haaie 1 raisin o bwiter
1 In742.806, which digh is {n the hundredths place? A o 5:3:8 26 : 12 ¢ BE
2 i 2 3:5:8
1y g aeamal  ploe Paper ] @ . 5 3 :8
(1; & 3} 8$:3:8
@ 7 ) 8:3:8 (;)
@ s ) |
@ o ()
4 S worked for 30 hours.  He wos paid $600, How much was he
paid per hotr?
2 Wrich of tha fofiowing is By 25 20 mi?
; v isthesame 1) $s $e00 £30 = 600 F0 % 3
@ = s
1 2t .
12 = w000 mi @ s : $30
2 02t .
) 850
@ oozt omb = (,ga—;ooo)} " (3)
@ 0002t
= 0088

()

§ " Shotwl had 52500, Ha sperd S2000.  What percentage of his money 7 Which fine In the square grid Is perpendiculr to AB? -

did he spond?
- 2000 20
() 0% 0o 25 o id
= g0
2 5% o / . 7
3y 80%
3} 8%
{4y 125% )
3 - A )
8 There were Y60 people in a concenl. 0% of them were adults,  How E
many %m there at tha consent?
(1) 384
@ s 16080 =3 4bO {y DB
0« 100
@ se8 1% 21 @ EF
= 9.4 ’
@y 768 @ co m
) ) °
bo% -~ L RS e pe
= g5 rlo%h
= Gbrb
T 576 (2')
3
as
b
576 ?5)



In the figura below, ABCD Js a rectangie. ElsapointonBC. BEls
half the length of 8C, DC =20 emand AD = {4 om.  Find tha ama of
tiangle BDE,

A 3]
H4omif - =
4
, .
20cm

{1} 3oem® ‘ ' =1

{28 70

@ oaw hrea & ABDE S IFIET

@ 2800w Z onT i
R A BT ¥ 1 (D:}

Which of the folowing teng! fatéral trienglo?

12

13

koS is an
@ j&)] y

Jasmine scored an average of 70 marks for g Mathematics test and a
Science tost,  She meored 88 marks for te Mathomatics test.  How
moany marks did she score for the Sciencs lest?

ot =) 1082
- = w0
@ e 1o -8 = 72
(3 72
W) 138 (2

Mandy had 408 £ of mik. She poured a¥ the milk Into 400 botties.
Each boltie contained the same amoint b mik.  How many litres of milk
did gach botile contan? :

408 % Boo = Ao 3 %100
1y oz S 2 g3 ;Qo
2y 1z sp02
2 102
(4 12
)

10

11

14

13

Tha solk! balow is formad by unit cubes.  How many unit cubes ame
thers?

@ =11

@ 17 . :
@ , (2)
4 28

Which one of the Tollowing fractions fs cosest to 27

ay 2% o 55

A AR Ry S b gt e sy i

3
% .
) 2z m%m&")ﬁ
® 1 5 2
3 differene 7 T : (1;)
7 . ;
® g SRerence. -y G

1-% -3
a
teft -~ Fx3
5
R = i
35
7
@ iz > a
1z
7
@ = (1)
13
W =

Mrs Tan cooks 0.35 ki of dee avery day.  How many Iglograms of rice
does sha cook in 60 days?

6-325 %60 = 035 K10 Kb

(1) 21 = 3.5 %k

2y 35 =oa

3y 18
8

(4} 23 ()
3
3.5
¥ b
:3;_9_



Quastions 18 b 20 cany 1 mark each. Wrile your answers in the spaces
provided,  For questions which require units, give your answers in the units

18 Inths figure below, JKL and MKM ase straight fines,  2NKP = 90” and
stated, {5 marks) LIKN = 130%. Find £PKL.
18 Find the value of 14 + {30~ 18)+ 6 x 2.
r+2xd X2
=+ 2 X2
= Y
AR (ans) Ans IR
: LNKL = 180 -130°
17 Find the value of 923 » 4. Express your answer 25 g decimal. = 50"
230.15 A ‘ ZPRL = q0"-50"
* ;23'00 > 450°  (ong)
12 Ans: 4o .
- 13 .
3]
- g . . 206 Inthe figure below, ORS is a thengle.  ZQSR = 10" and ZQRS = 25¢.
7—(—)— ) Find £SQOR.
.3y Ans: 23075
h—73 )
~ 30

18 Whatis the miseing number i the box?

s <
—

4:7=32:[ ]

Xk
Irh = @ 4SaR = WO 10"~ 25"
THE TS (o) > e -08"
* 145”7 Cans)
Ans: 56 Ans 48 .
1 2

Questions 21 fo 30 cany 2 marks each. ' Show your warking cleary and wrile

23 Whatls the volume of the cuboid shown below?
your answors in the spaces provided.  For questions which require units, give
your answers In the units stated. {20 marks}

21 Inthe figure below, WXYZ is a trapezium. WX/ ZY, £ZWY = 85" ang -
LWEY =85°. Find LYWX

40 %30 %70 = oo nio

= 84 000 om” (ong)
v .

Ans: g4 ovo cm?

= 20 {ans) 24 Find the average cost of the 3 Rerns as shown below,
s
AnE: 20 —~ 3.
2950 |
% 4350 ;
2 T v
22 Mys Yan had some money at first: She spent 3 of her money on'a. ALEEETY
watch and % of her monsy on food., She had $100 lefl. How much 338 §29.50 $42.50 3%
2 37168
did she have at frst? Ct Sia80 s & o
o 2y 450018 Tt - %3 3 Y $42 50 o
(=2 % = | = 2.2 i = %103 ~1g
3°F LT T < §750 (ars) = 5
= % 2108 =+ 3 = $3% (on)
5 A
5 -5 s100 /
53 Swesi
! : 450 Ans: 8 150




25  Themassof a bookis 3.08 kg, Find the total mass of 8 such books.

£y
3-08 3.0 w6 = 15-3§ {ons)
% Y
18-48
Ans: 1048 i
28 Tho drink stal sokd 2654 packet drinks in January. The.numbsr of
packet drinks sold in February was 44 more than the number of packet
drinks soid In January.  How many packet drinks were soid in February?
Round your answer 1o the nearest ten.
¥
2451 + B = 295
2 o100 (ans)
Ans: 00
27 Mes Singh deposits $15 000 in the bank for one yoar.  The bank offers
an interast of 4% per year. How much wit Mrs Singh have i hor bank
at the sind of ona year? “
ook —> s 00
1% - $isod *los
= §I150
4% - #1sory
* f6co
$15000 = 15 goo (a0 :
deo0 + 315 Ans: § 15. &0
5
26 Inthe figure bolow, WXYZ Is a rectangle. | The area of reclangie WXYZ
i 552 e, C and D are points on WX, E and F ane pointy on 2V,
Find the fotat area of the shaded pastis.
c o4
2716
55
i
15
L
33
-2
e

- Ty &2 = 276 (ans)

Ans: 26 em *

30 The averaga mass of Mei Mei and her cousing was 45 kp.. Mol Mel's
~ s was 5359 The sverage-mess obhercoushnswos 43 kg How-

many cousing did Mei Mel have?
53-45=3
45-43 =27

g2 =4 (ans)

Erd of Fapsr

28  Nems stacked 10 unft cubes and glued them together to form the solid
below. .

-4 “FepViaw- + e ~SidaView.- .
e x4 s e wow} .».’rolﬁb‘
« pepeaa e v P P T
« . e o e A s md e ¥ s
. . x . e “« v m
o e R C&D
O SR . s
B I T T P
v w ek w e e . e a A e e e
s e e v e e S

&

PG &



Questions 110 5 cany 2 marks aach.  Show your working claarly and write
yobr answers n the spaces provided,  For questions which reguire units, give
your answers In the units stated. {10 marks}

1 Samhwtx%binﬁwmmmmmmomhersmpm}ea
Shespern‘l{a hmﬁueas‘benmnmcomp)eteherl:hineﬁe projact
What was the lotal amount of tims she spent on comploting both her
Sdmandcwnasépmjects? .

%= 28 (end)

B
Anst 23

.2 The?v‘__d_eodasqum}sagm. Whatis tha perimeter of the square?

(E2ry = 253 (g

& Junie bought a book from ABC:Bookshop. | She had jorgotien how
much she pald for the book.  However, she remeémbered that the book

cost $30 when rounted to the naarest dofiar,
She mmembered tha following about the cost of the book:
~ it showsd 2 decimal placas.
~ Al ihs digits are different.
- The digits she saw in the lerths and hundrodths places are 4, 4
or 8.

How many possible costs of the book are thers?

How ta Ioprove Your

$8-51. % %30
$29-3% 4 430
$36-1% . $30
$30°15 2 $3o
¥4 »~ 3o

% 3o- 8

3 The table below shows the number of books sold in Everygreen

})S 2e2] bookshop from Januery to May,

. [ Jai [ Febuary | March | Apd

S 2 Lf:s}saryl 75W1 82 | 9 ? N;i)'j{
mP@y’ - What was the average number of books sold from Jsnuary 1o May?

Total -~ 88 +7IS ¥ 82 + 6947

- 38

385 5 - 17 (ang

4 Inthe Sgure buiew, ABC Is 2 ight-ongled triangle, D is a point on AC,
LBAC=23", ZABC = 90° and BC = BD. Find ZBDA.

8

R n' DY

ZACp = (86" ~90°=23 °
> 810
* e
L6808 =1 ~87°
=37 fant)
Ans: 3 .

D UG L A

For questions § to 17, show your woiking clearly ard write your answers in the
spaces proviied, The number of marks avallable ks shown in brackets { | at
tha end of vach question or part-question, {48 marks)

[ Anna and James had the sama amount of maney at first.  Anna bought
some pens and had $4.30 fefl.  James wanled lo buy highlighters only.
The number of highlighters that James wanted o buy was the samae as
the number of pens Anna boughl.  However, he was short of £8.70.
Each pen cost $1.20 and each highlighter cost $2.50. How much
money did Anna have at first?

$4-304 $8.70 7 3
L5 aifereny  venveen
e s of hghigmers
and  perg
3250~ $1.20 = $1-30
b afferene beruen )
hightghter -and ! pen
31 % %i-30 = jo
$i30 %o = 312

$124 $1.30 ¢ $3- 30 (an)




Themvmaxxncﬂe:sﬁcksumd%mmassmwninmﬁyﬂbm. 8 in the sauare grid balow, JK and JN ars straight fines.

7
{a) JK and JN fomm two sides of a squars JKLN.  Complste the
drawing of the aquare JKLN. ]
-ART MUSEUM (0} UK and JN form two sides of a trapezium JKMN. KM s pamalie! io
@ TICKET SALE : JN. Completa the drawing of trapszium JKMN such that the area
Usuat prica: §16 per tickat : .. ofmm%momomcfm. o
Buy 1 ficket at 10% discount .
Buy 2 or more Hickets at 20% discount }
R
{a) MrLim bought§ tickal How much did he pay? - N
100 —1o = 40 ’ N
et
32 %86 = §1-30 (ans) R~
Pt
N M
Ans: fa) _S1HA0 0
{6} MrTan bought 3 ickels, Whzt was the least amourd of money ha )
paid? ] Chin Lea is 12 years cider than Ming $hl, @@Wﬁmﬁ,mmﬁou
o-30= 86 . Ming Shi's age o Chin Loa's sge will ba 5 © 8, How old Is Chin Lee
now? .
20 = .
.g)-;,t*le $12- Bo 4-5=14
$i3-8o %3 = %3840 (onn 4 units =02
tunid 2R3 H
=3
q us = 39
=37
Ansi (D $3¢.20 2 Ans? a2 3
e} -5 33 {ang B
5 &
16 . The average of 8 numbers Is 45, “Whon 2 of the numbets are removad, 11 Farhana beked some cupcakes. %o!mawpcakaswera chocolate

the gé of the remalning numbers Js 32, The diffprence between -
the 2 numbars that are removed is 8.

&
cupcakes and the rest were danana cupcakes.  She sold 3 of ihe

ol
chocolate cupeakes and 51 banana cupcakes,  Sha then had § of ths

fa) Find the sum of tho remsining numbers.
cupcakes loft,
g-2=%
31xé = 192 {and {a) How many chocolate cupcakes did she ssli?
: S AT ey & pang o —
il‘if:'"i?"”.ft'i”*;%rt:rt!'«,’“’ ’i
wp M ek S0 -
& ISunly ang

2.1
5 F %%éoéa\ 254

%~ 3 =i - bomnas teby

Ans: {2} Mq2 _m
3%4
Tan = 28 12 fony)
(b) What are the 2 numbers that ara removed? -0 =11
1T units = 5}
A5RE T 3o t unit 2§11
« =3 / 2
o922 162 -5 zﬂmwd# i (b} How many cupcakes did she bake In alr?
[T S GERTE 5235
BW2422 8% (anp 35 units 2 3 %35
2 L 721 (ann) * iox (ond)
Ans (b 105 2

ans: oy £l . AN




3
12 Atank measudng 40 cm by 14 cm by 18 om was :-ﬁﬂedwi&ws&was

shown beiow. Al the water in the tank was poured Into a cubical
comainer of sides 20 cm. ’

20 cm

4 20 om
200m

{a) How much water was In the tank at first?

24 4o %1% %187 T5600n” (ams)

. 3
Ans: () __ 1560 cm @
{b) How many morp jitres of water are needed to fill the cubical
container to'the brim?

20 %30 %30 = 3oon

foo0 ~ ISto 2 Byp

440 ¢m? = o482 fom)

) _ottl @

34 The fgure below shows & right-angled triangle AFG and a square ABCD
overiapping each other. ADG Js a sbraightlins.  ZAGBF =80°, DC=GF
and EC = 7 cm. - The length of AB Is twice the length of EC.
Triangte AFG has the same area as square ABCD,

. A 8

G
{a} Whatis the area of square ABCD?
TR

1R T 196 o (ans)

A (o) 1% en’ )
{b) Find the shaded arsa DEFG.

hea of  AAPE T FAXTHIY
= 89

18~ 4q 2 197 em® (o)

Ans @ M1’

k2l

13 Kean Yaw had 7200 shutiecocks,  He packed the shuttiecocks into as
many bags of 7 stadticocks as possible and had some shutiecocks left
unpacked. He sold 21 his shullecocks and received $3608. Each bag
of shutecocks was sold at $3.50.

{a) How many shutllecocks wers lelt unpacked?

1200 =71 T 028 RY

e @ % g

{b) Eath of the shuitiscocks felt unpacked was soid at the same prica.
How much did sach of the shuttlecocks lelt unpacked was sold at?

1028 X $3.50 = 33593
+308 ~ $3598 ¢ %0

FO5Y = £ 0.6 (onr)

ans: (b)) _$2:50 o]

15 Inthe figure below, NQRT is a paralielogram. P s a point on NG and
PTS Is a straight line.  «NTP =33%, /PNT = 105° and LTRS = 21*,

{a) Find £RST,

il

‘go'~\o§°'3.’> °
42°

LPTR

tt

LsTR= o -s2”
138°

5

LRST = 1807 ~-138 "~ 2°
T fopn)

cAns @2t W

(b} Circla the words that describe triangle RTS comectly in the
following statement.

Triangle RTS ( Us) 1 Is not ) an isosceles tangle becausa}
RY { {Is) / is not 7} equst 1o ST,

{1

- 2 Pﬁ 1




18 Cindy had 3 plece of ribbon. mw;mmmnmw
smal dentical bows and 7 kg ienticol bows.  The langth of nbbon
usod for 3 lrgs bows was the sama as the Jength of ribbon used for 5
sma bows.

{8} How mony large bows can sha make with the same dength of ribbon

used or 18 smal tows7
' sE5=3
2x3=9 {awv)

s @ 1 m

{) mmmmmmmm% of the remalning
#Abbon?
k3 “'r 7 i T
REEANIRNEA RSN )
s..,,_..f\? 7
el ond. 0
. Sencdt
7wyt
ek B 4 1 tage
=74 lege 3 7 large-
3 1 lage

T bl
= 4
2 uxs
z potarge
=3 (4 x5) smalt Ans: (b} 2O ml

=3 20 smay Cg“)

f‘f, (b} Whikch figure in tha pattern has 530 squares?

20 %3} =430
(ant)

) Fgue . 30 2
{€) Find the tot number of circkes and squares in Figure 15.-
ovie -3 5 RIS = 5

squareS 3 S 250

Total =¥ 225 + 240 F 445 (gn1)

455

N

End of Papor

»

17 Hoolee fonned some figures using squares and circkes a3 shown below.
\

~
™y
O
&% 1 )ﬂ
0O G000 O
0 BB OO 0t oooooooo
Figurs 1 Figure 2 Figues 3 Figure 4
Flgurs 1 2 3 4
Nomber of crcies R 4 8 8 7
1x35 2837 3%3%9 atid th
Number of squanes 2 B 12 20
241 3L ar3l  Taxid
Total number of tircles
and 3 10 21 . 38

{8) Firxd B number of drcles In Figure 8.

258 =54 (o)

Ans: (3) b 1

14

£




